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1 Fig. 1 shows a spatula made from three separate pieces of hardwood.

—

blade

handle

U

Fig. 1

(@) (i) Name a suitable hardwood for making the spatula.

...................................................................................................................................... [1]
(ii) Give one reason for your choice.
...................................................................................................................................... [1]
(b) Name two tools or items of equipment that could be used when making the spatula.
1 OSSPSR [1]
2 ettt eteeeteeeeeeeteeeeeeateeeseeeaseeesteeaseeeteeaseeaateeanetenseeanetateeaneeateeaneeeaseeaneeenteeaneeenneeaneeenns [1]
(c) Name a suitable glue for fixing the three pieces of hardwood together.
.............................................................................................................................................. [1]
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(d) Underline the production method from the list below that is used to make 25 of the spatula
shown in Fig. 1.

Industrial Production Batch Production Mass Production

Plastic Production One Off Production

1]

(e) Use sketches and notes to show how you would ensure that all 25 of the spatulas are
marked out identically.

[2]

(f) Use sketches and notes to show one improvement to the spatula.

[2]
[Total: 10]

©OCR 2010 Turn over
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2 Fig. 2 shows an acrylic display stand used in a jeweller’'s shop.

Fig. 2

(a) State whether acrylic is a thermoplastic or a thermosetting plastic.
ACIYIIC IS @ v plastic. [1]

(b) State two reasons why acrylic is a suitable plastic for the display stand.

(c) The display stand is to be cut out using CAM.
Give two benefits of using CAM to make the display stand.

© OCR 2010
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(d) When in use, the display stand slides around on the jeweller's shop counter.
Use sketches and notes to show how the display stand could be modified to stop it sliding
around when in use.

[2]

(e) Fig. 3 shows a side view of one of the display stands.
Use sketches and notes to design a jig to allow each of 50 display stands to be bent into the
correct shape.

Fig. 3

[3]
[Total: 10]
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3  Fig. 4 shows views of a ‘throw over’ latch for a gate.
The latch is made from 3mm thick galvanised steel.

fixing bolt

Fig. 4

(a) Explain what galvanised means.

(b) (i)

© OCR 2010

The ‘throw over’ latch can be manufactured in two different ways.

It can be cut and bent to shape from one piece of sheet steel or fabricated from separate
pieces joined together.

Explain why cutting out and bending to shape would be the more efficient method of
manufacture.
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(ii) Complete the development (net) for the ‘throw over’ latch to show
two bend lines and two drilling centres for the bolt holes.

bend lines — — — — — - drilling centres +
[2]
(c) Use sketches and notes to show how the ‘throw over’ latch can be ergonomically improved for
the user.

[2]

(d) State two different methods of joining the separate pieces together if the ‘throw over’ latch is
fabricated.

1Y =7 12T o [ PP PPN

MEINOA 2 ... [2]

[Total: 10]
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Fig. 5 shows two domestic smoke alarms.

Fig. 5

(@) Smoke alarms are designed and manufactured to a specification.
Give three specific specification points for a domestic smoke alarm.

(b) The smoke alarms are manufactured using a ‘just in time’ (JIT) production system.
Give two benefits to the manufacturer of using a JIT production system.

(c) Smoke alarms have to be correctly packaged and labelled when being sold.
Explain why the packaging and labelling of products is needed.
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(d) Many products display the following symbol.

State what the symbol actually stands for.

.............................................................................................................................................. [1]
(e) Quality control checks are made during manufacture of the smoke alarms.
Give two reasons why manufacturers need to undertake quality control checks.
L TP
2 PP
.............................................................................................................................................. [2]

[Total: 10]
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This question is based on the theme of ‘stacking chairs’.

5 Fig. 6 shows two different styles of stacking chair.

(a)

(b)

(c)

(d)

(e)

(f)

© OCR 2010
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chair A (plastic and metal) chair B (wooden)

Fig. 6
Give two reasons why the chairs are designed to stack.
R T=T=ETo o PP PPPPPRRRPPT
REASON 2 ..o e e e e e e e e e e e e e e e e e e e aanan

Name the plastic used in the manufacture of chair A.

The metal legs have a coating on them.
Give one reason why they have been coated.
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(g) Use sketches and notes to show how either chair A or chair B can be:

* linked together when used side by side
* easily separated for stacking

[3]

[Total: 10]
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